
Expanding Double Brackets
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1 Expand the following: 

1(a) (𝑥 + 5)(𝑥 − 7)

[1 mark]

Answer

1(b) (𝑥 + 5)(𝑥 − 3)

[1 mark]

Answer

1(c) (𝑥 + 7)(𝑥 − 7)

[1 mark]

Answer

1(d) (𝑥 − 5)(𝑥 + 6)

[1 mark]

Answer

1(e) (𝑥 + 8)(𝑥 + 1)

[1 mark]

Answer

Turn over for next question

Turn over ►

5
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2 Expand the following:

2(a) (2𝑥 + 2)(4𝑥 − 6)

[1 mark]

Answer

2(b) (7𝑥 − 8)(2𝑥 + 8)

[1 mark]

Answer

2(c) (8𝑥 + 3)(5𝑥 − 1)

[1 mark]

Answer

2(d) (2𝑥 + 3)(7𝑥 + 3)

[1 mark]

Answer

2(e) (3𝑥 − 1)(6𝑥 − 8)

[1 mark]

Answer

Turn over for next question

Turn over ►

5



4

3 Expand the following:

3(a) (5𝑥 − 3)(−4𝑥 + 2)

[1 mark]

Answer

3(b) (4𝑥 + 4)(−3𝑥 + 1)

[1 mark]

Answer

3(c) (3𝑥 − 2)(−4𝑥 − 5)

[1 mark]

Answer

3(d) (−4𝑥 − 1)(3𝑥 + 7)

[1 mark]

Answer

3(e) (8𝑥 − 5)(−𝑥 + 8)

[1 mark]

Answer

Turn over for next question

Turn over ►

5
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4 Expand the following double brackets: 

4(a) 𝑥 + 5 𝑥 − 7 − 𝑥 + 2 2

[2 marks]

Answer

4(b) 𝑥 + 2 2 + 2𝑥 + 2 2

[2 marks]

Answer

4(c) 𝑥 + 7 2 + 3𝑥 − 2 𝑥 + 1 − 𝑥

[2 marks]

Answer

Turn over for next question

Turn over ►

6
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5 A rectangle is shown below. 

Find an expression for area of the rectangle. 

[2 marks]

Answer

6 A triangle is shown below. (Level 5)

Find an expression for area of the triangle. 

[2 marks]

Answer

Turn over ►

9

2𝑥 + 2 cm

𝑥 − 1 cm

2𝑥 + 2 cm

𝑥 + 10 cm
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7 A cinema discovers that when tickets are £7, all 220 seats are filled. 

Ticket price rises occur in 50p increases. 

For every ticket price increase of 50p, 10 fewer people attend a film. 

The expression for this is (0.5𝑥 + 7)(220 − 10𝑥)

7(a) Expand the brackets for this equation.

[2 marks]

Answer

7(b) Find out the total earned, if the manager increases the price of the ticket five times.

[2 marks]

Answer

END

4
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